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SECTLHON-A

:I (i) GENERAL AWARENESS

Which of the follgwing is not &
constitutional body?

(A)  Union Public Service Commission
(B) Stalf Selection Commissicn

{C} Election Commission

(D)  Financa Commission

Electoral college for election of the

President consists of

(A} Elected members of both houses of
Farliament ahd the state assemblies

(B} Members of both houses of
pariamant

(C) Elected members of both houses of
pariarment

(B All mambears of both houses of
Parliament and the state assemblies

Cancentration of pollutants in atmosphara
Is often measured in

(A) Parts per biliion

(B} Parts per millicn

(G} Parts par trilllon

(D) Kg persg metrs

How will a plant with green leaves appear
in red light?

(A Violet

(B} Black

(G} Green

(L) Red

Qutsianding soil type of Coastal plains
ard the Morth Indian plains is

(A Lateritic

(B} Black scll

{C} Red Soil

(D} Alluvium

6.

10

DO WO 18 A

FAGE ~ 04

Wiich of e tollowing formula can ba
used for calculating the Per Capila
Income of & country 7 i

_ . : h
(A Total income of varnous ndustris

Total number of indusinal workers
{2) Total Gavermnment revenusa

Total population
(C) Total family income

Number of family membars
(0} MNational incoma

Tolal population

Franch challenge to the British in India
ended with

(A) Batlle-of Plagaey

(B) Battle of Buxar

(G} Battle ef Wandiwash

(0} Battie of Srrangapatinam

PAVC is formed by pelymerization of
{A) Shrene

{8) Agaotylone

) Propeneg

(L Vinyl Uhloride

Which has the henour of being the first
linguistic state In Indsa Y

(A} West Bengal

(B} Andhra Pradesh

(2] Tamil Nadu

() Punjab

What happens in a reduction reaction’?
{A) addition of Cxygen

(B) addition of Nilrogen

(C) addition of Hydrogen

(D) Mone of the shove

Conbg.
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Synagogue is a worship place Tor which
religion?

[A) Parsireligion

(B Taoism

() Judaism

(D) Shinto religion

Which of the foliowing pairs Is incorractly
matched?

(A} Vitamin C— Seurvy

(B) Vilamin K— Haamorrhage

() Vitamin & - Might Blindness

(O} Mitamin E - Rickels

Where is the lron and Stesl plant In
Chhatisgarh?

{A) Bumpore

(B) Salem

(C) Bhilai

(0) Bokaro

BSE Senzex is based on how many
stocks?

(A) BO

(B) 100

(C)y 30

(D) 50

Which article of the Indian Constilution
mentlons Financial Emergency 7

(&) 360

(B} 350

(2] 340

(O} 330

20
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Which river in India flows in a rifl valley 7
(A}  Kaver
(B8) Tapt
(G} Son
{0} Ken

Vaccination js

(A)  simple passive immutity

{8y Arlificial passive immunity

(C)  Artificial active acquired immunity
{0}  HNatural-acoguired immunity

Which of the following pairs s canmreatly
matchsd?

(A}  Kuchipudi - Andhra Pradesh

(B) Kathakah - Tamil Madu

(C) HKathak — Manipur

(D) Bharalnatyam — Kerala

Tenura of non - pemmanant members of
LIN Secunty Gounct 15

iA) 6 months

(B) 1years

{C) 2 yedrs

(DY 3 years

Which are the two dynasties which
immadiately preceded and succeeded the
Khilji rulers?

(A) Slave and Lodi

(B} “Sayyidand Lo

(C) Slave and Tughlag

() Tughlag and Lodi

Conld
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Which Constitutional Amendment Act is

considered a "Mini Constitution” 7

(A} Tth Constitutional Amendnent Act
1958

{B) 24th Constilutional Amendmient Act
1971

(€] 42nd Constitufional Amendment Ast
1976

(D} A4th Constitutional Amendment Act
1978

Who among the following did not take
part in the struggle against the British in
18577

(A) Tatya Tope

(B) Tipu Sultan

tC) Rani Laksmibai

(D) Nana Saheb

What do radioactive substances smit?
(A} Radio waves

(B) Infrared waves

(C)  Ullraviolel wavas

(D) oufband y rays

shiv- Kumar Sharma is famous for playing
which Instrurment?

(A} Santoor

(B} Sitar

(L) Sargd

(D) Flute

Which programme of Government of

india aims to provide construction or

upgradation of housing for rural poor

below the poverty line ¥

(A) MNational Social Assistance
Programme

(B} Jawahar Roigar Yojna

(C) Indira Awas Yojna

(D) Jawahar Lal Nehru National Urban
Renewal Mission

26,

24

213,
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Which of the Indian states has the longest
coastline 7

(A Tamil Nadu

(B}l Kamataka

(C) Gujarat

(D) Andhra Pradesh

s

Which of tha folio wing Is a direct tax 7
(A) Sales Tax .
(B) Excise Duty

&y Wealth Tax

(D} Entertainment Tax

Amount of water vapour in a unit valume
(Cubic metre) of airis called

1A Mixed ratio

(B) relative humidity

(C) absolute Fitermidity

(B specific rumidity

Capital markets re qulator is
(A} NSE

{(B) RBI

(C} SEBJ

(D) IRDA

In which of the fallowing materials.
resistance decreases with increasing
temperature 7

(A} Pure Sillcon

(B) Copper

{C)} Nichrome

(01 Platinum

Contd.
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Kavery water dispute exists between
{&) Karnataka and Andhra Pradesh
(B) Tamil Nadu and Andhra Pradesh
(C) Tamii Nadu and Kamalaka

() Karnataka and Maharashira

Which of the following pairs are
synanyms of the same game ¥
(&) Billiards - Carrom

(B) Guoll—Pola

(CY Football - Soccer

() Volleyball —Squash

Which company Has recently been asked
by the Supreme Court to refund Rs 17400
Crores o its investors?

(A) Reliance

(B} Sahara

(2] Vodafone

(o) Aurindia

Meraines ara formed in
(A)  River dellas

(B) Dryareas

() Glaclated areas

(0 Monsoon areas

Neuron is

(&) Fundamental unit'of enargy

(B) Particle released in radicaclive
EMISSN

(C) Antiparticle of neutron

{[¥) Fundamenial unit of nervous sysiem

36.

3
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Which of the following woman Tennis
playvers has won maximum Grand Slams
tA)  Venus Wiliams

{B) Steffi Gralf d
(C) Margaret Courl

(DY Serena Willlams

Enzyimes are

(A} Sterolds

(B} Carbohydrates
) FProteins

{0 Lipids

Where is Bibl-ka-Makbara in Indis
(A} - Fatehpur Sikri

(85  Aurangabad

{C)  Hyderabad

{0} Jaunpur

How many players in Basketball on each
side?
()
(8)
{C)
(D) &

=i N

=

From which language is the word

Democracy taxen’?
(A} Greek

By Hebrew

{C) English

(&) Latin

Contd...




1 SECTION-A | | (i) GENERAL INTELLIGENCE & REASONING ABILITY

41. Doctor: Trealmenl nodudge 48, if TYPEWRITER is writian as
(A)  Punishment GBKVDIRGVI, what will STENG be
\B] Judgment written as in the same code 7 -
(C)  Lawyer (A} LMVGH -
(0} Cour (B) HGVML
(C) LMHGY
42, ACEG . [KMO :: QSUW : 7 (B} HVLGM
(A) YZCE
(B) YACD
(G} YBCE Ag. |f_H.‘5-Ei-IMFF'. s wWrillen as 8142753, what
(D) YACE will RIMEHAK be writlen as in the sama
code ?
(A) 3574218
43, 16:86:132:7 (B) 3571842
(A} 86 (C) 3521478
(BY 112 (D) 3574812
(G} 120
(D) 128
Instructions (50-53) :In the folliwing cholces
44, MxN:13x14FxR 7 pick out the odd (unmatching ) werd {letter
(A) 14 =15
IEE-{ g i : g 50. Plck the odd word [ |etter
{[Ji 7 ox1a (A M_Il::-:vl:!a
(B}  Migrofilm
(C] Microphones
4%, 2460, 3570, 4630, 7 (D) Microscope
(A} 8640
(B) 5670
(C) 5970 w1, Pickthe odd word [ letter
(L) 58780 (A} Sociologist
(B} Etonomist
- (1G] Neurclogist
46 f714, 7916, 8109, 7 (7 Educationist
(A} 8311
(B} 8312
[C) 8508 G2, Pick the odd word 7 letter
(D) 8515 (A) ACE
(B} FHJ
47, Inan imaginary mathematical operation, if (C) KLm
" — " means division, " + " means (L) SUW
multiplication, ® + " means subtraction, and
" " means addition, then which of the
following equations is correcl ? B Pick the odd word / lettar
(&) B+20x12+7_ 1=70 (A (52 142)
{B) G+20—-12+7x1=H2 (B) (54, 1286)
{C} 6-20+12 x7+1=57 (C} (56, 168)
() 6+20-12+7-1=38 (D) (58, 184)
1D0-7WEH-19 A Contd,.,
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586.

ar.

3, 15, 35, 63, 7
(A} 77
(B) B84
(C) €9
(0) 98

Two posllions of a dice are shown as
follews, if 3 Is al Ihe bottom; what will be
at thetop face ? .

(A) 6
(B) 3
(C} 4
(D) 2

If the number of vehicles in a city was 2.3

lakhs i 2002, 241 lakhs in 2003, 225

fakhs in 2004, 2.36 lakhs in 2005 and

2.29 lakhs In 2008, what conclusions can

you draw?

(A)  Thenumber of vehicles in the cily Is
stationary

(B) The number of vehicles in tha city is
increasing

(G) Change in the number of vehicles in
the cily is wawy

() The number of vehicles in the clity 15
decreasing

Detective | Informer ;; Reporter = 7
(A) Source

(B} Edilorial

() News

() Essay

a8,

G,

PAGE - 14

Arrange the words according to lhe
dictionary

1. Matter

2. Molive

3. Mockery

4. Manage

5. Movies

(A) 4.1,2, 5.3
B) 4,2.3.51
() 3:2-1. 4.5
(D) 4,1,3.2.5

Which of the fallowing choloes stows the
logical sequence of the-waords ?

1. Flant
2. Thread
3. Beed
4. Shirt
5. Cotton

(A) 31,254
(B
[ T e s B
(o) 1,3.2.5 4

Vijay walks 10 metres Wesl, turns left and
walks 10 metres, again turns feft and
walks 10 metres and finally tums right 45°
and walks straight. In which direction is
he walking now?

(A} South

(B) West

(G} South— east

(D) South = west

Coptd,.,
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Five children are standing in a line, O is
third from M who is standing to the left of
N, and P is to the left of 0 who s fourth
from N, What is the position of P from the

right 7

(A) 3¢
B) 1=
{C.:' 4|:'I
1'|:|.!| Sl

Select the cormact equalion afier
interchanging the following operators and
ML MDErs

»and +; 12 and 16

(A} (80+ 18)= 14=70

(B) (55 -12)+3 =42

(G} (M0x8) - 12 =36

(D} 36+ 10)+16=30

PEAR EFRA : BADN 7

{4) PERA
(B) NDAB
(C} ABDN
(D) DABN

J, B, L, Hand F are going to the station,
Each reaches al a different time. L
reaches only after J, and D reaches only
before F. Who reaches third?

(A) F

B) L

(€} D

{0} H

I P represents " =", R represents ™<= ", M
represents " - | and W represemts " + ",
than

2OREWIZM3IP4=7

(&) 4

(B} 28

(C}) 16

(D) 52

G&.

&7

B8

)

PAGE-16 |

If the digits of 8429516 are aranged)
ascending order, which digit is founh _
right? ]
Al
|B}
()
{0}

£ oonoe o

Spring | Summer & 7

(Al Sunday : Monday

(B)  Thursday : Wednagday
(0} Tuesday ; Friday

(D) Friday | Monday

G0 T38 :: 7350
(A} 220
(B} 22%
{C) 230
(D) 248

Which of the following is trua?
e g "8"=2

(&) +, =, x
{g) ® = 6=
(] =,+ X
Q) =, %,+

My friend and | staried towards each
other fram 100 melres apart. After 30
metres, my friend tumed left and walked
10 metres. Then he tumed right and
walked 20 metres after which he tumed
right again and reached the same road
from which he had started walking. If we
both walk at the same speed, then what
is the distance between us at this time?
{A) 50 metres

{B) 20 metres

(C) 30 metres

(B) 40 melres

Contd,,
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A-waord is writlen In bold letters afler
which 4 words are writlen. Thrae of the
words cannot be made by the letters of
the word In bold letters. Choose the word
which can be made aut of the letters of
the bolded lottared word,
BLANDISHMENT

{A) BOARD

{B1 METAL

(C) SHAPE

{0} CRASH

In & group of friends, two have wives, ong
is unmarried, the wife of one has died,
and two are divorced. If they have taken 4
children 1o pienic, then how many
members have gone for the picnic?

(M) 12

(B} 10

{C) 14

o) 13

Mumber series

56, 90, 132, 184, 248, 7
(A) 368

(B) 318

{C) 352

{0} 326

MNumber serias
0,4,8, 24, 64,176, 7
(A} 180

(B} 480

{C) 280

(D} 300

B is twice as old as A, but'is twice as
young as F. C'is half as old as A , bul
twice as old as . Who is the second
oldest?
(A) B
(B F
(C} D
(D) C

76

iy

78,

79

8L
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Find the wrong numbaer in the seres
6,12, 21, 32, 45. €0
(A) B
(By 12
(&) 21
{D} 32

Ramesh |& al 13th position In a class.af
33 stludents. There are 5 students belo
Suresh in rank. How many students are
batween Ramesh and Suresh 7

(A} 12

(8) 14

(G} 15

(D} 16

Selact the word which cannat be made
from the letters of

COMPREHENSION

(&) COMPRIZE
(By PENSION
(C) ONION
(D) PREACH

Arrange in a logical seres
1. House
Z. Road
3. Room
4. Town
5. District

(A 3

15 S b

{G) 3,1

12 A T e

How many triangles in figure PORS

1] =

(A} 18
(B} 12
(C) 10D
() 8
Contd.
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The sixth number in the series 11, 13, 17,
10 23, — 281s

[A) 24

(B) 18

()~ 25

(D) 22

In A ABC. AB+ AC 15
(A =z AL

(B) sAC

(C) =AB+AC

(DY MNone ol the above

Which smallest 5 digit numbaer is divisible
by 41 ¢

(A) 10045

(B) 10004

(C) 10041

(B) 41000

A candidate salves 100 questions Inan
exam. Each right answer carries +4 and
each wrang answer carries =1 marks
What is the number of right answers if the
candidate gets 260 marks and {he total
number of questions in the paper is 1007
{A) 65

(B 72

Gy 28

() &0

Brahmaputra Mall covers a distance of
220 Kms in 2 hours. 1T it covers half this

L
distance inE th of the timea, with whal

speed will it cover the rest hall #
(A) 14666 Km /! hr

{B) 120 Km fhr

(C) BOKm/hr

0} 110 Km /hr

B8

B

&4

g29.

PAGE - 20

A wheel covers 77 Km in 700 revciuioRes
W hat Is its radius®

(A} 15.2m
(B} 18.3m ?
(C) 17.5m
(DY 215 m

A mmietal sphere of radius € om was
melted to form smaller spheres haying
radlus 0.5 cm. What is the mnumber of
smaller spheres formed?

(A} 1826
(8) 1728
(C) 1646
(D) 2224

the =um af internal angles of a regular
palygon is 540" What is the number of its
cldes?

Ay 3
(B) 4
(G} 5
(D) B

37K
An angle measures — radians. what |s

|5 measura in angles
(A) 145"

(B) 72"

() 108°

(0] 120°

If the cost price of 10 chairs equals the
selling price of 16 chairs, what is the joss
parcent?

(&) 9.8

{B] 175

Gy 20

(e 570
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291. A numberis Increased by 10% and
subsequenlly decreased by 10%. What is
the net change?

(A} Neithar increase nor decrease
(B) reduced by 2%

(C) Increased by 1%

(D) decreased by 1%

82, IfAand B complete a work in 12 days, B

and C In 15 days and C and A in 20 days,

how lang will it take for B alone to
complele the work

(A) 30 days

{B) 25 days

{C} 24 days

(D} 20 days

Direclions (93-95) : The bar graph shows a
number of tickets sold by six students A, B, G,
D E, F during a Tair.

Sludy the figure carefully and awnser the
following questions.

: |

LA
=
NIKETE

C (§1
i Tiatiepinm

E

93.  Number of lickets sold by A, Band C is
(&) 45
(B) 44
(C) 42
(D} 40

84,  Which student has sold the least tickets?
(A} B
(B F
(C) A
(&) D

23

896,

g7,

93,

100.
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MNumber of tickets sold by D, E and F is
(A} 47
(B) 4B

(C) 45 i
(D) 44 ]P

InA ABC and POR, a=p. b=qand £&
= £ R, then sider="7

(Al £C

(B) A

(C] B

(B) C

1
IfI+F: 843,

1
then, X + — will have a value of
A

(A) 729
(B) 756
(C) 748
(D) 784

Rs 385 Is distributed In such a way that B
gets 25% maoare than A and' 20% more
than C. What Is the share of A7

(A) Rs185

(B) Rs 180

(C) Rs9B

() Rs 120

In 5 litre mixture of alcohol and water
nawving 40% aicohol, another 1 Litre of
water is added. What is the % of alcohol
Ir1 the new mixture?

(A)  30%

(B) 33%

-
(L) 353-%

1
(D) 33 ;E“l’ih

in-an exam 60% candidates passed
English and 70% passed Maths,
However, 20% failed both subjects. what
was the total number of candidates in the
exam if 2500 candidales passed both
subjects 7

{A) 3000

(B) 3500

(C} 4000

(D) SB000

Conid...
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- The sum of the ages of the father and the
son 18 100 years: 5 years sarlier thalr

ages were in the ratio of 2 - 1. What will
be lhe ratio of thair ages after 10 years?
(A} 5:3

{8) 4:3

(S 10:7

(B) 3:5

I the sailing price of an article is reducad
by G0%, there is 10% loss to its cosl
price, What was tha profit % on the
original price?

(A} 70

(B} B8O

(C} 100

(D) 125

The next number in the saries
37 183,83 s

(A) 85

(B) 111

(G} 123

Dy 127

With which smallest number should 4320
be mulliplied to get a parfect cube?

(A) 40

(B} S0

({C) 60

(D) 20

A student needed 33% 1o pass, Ha ot
125 marks-and falled by 40 marks. What
was the maximum marks in the exam?
{A) 500

(B) 600

(C) 800

(B} 1000

A hallis 15 metres long and 12 metres
wide, If the sum of the areas of its floor
and its roof Is equal to the sum of the
areas of its walls, what is the volume of
the hall in cubic metres 7
(A) T20

(B) 800

(Cy 1200

(D) 1800

107.

108

109.

110

PALGE - 24 J

The product of twe numbers is 45 and
their difference is 4. What is the sumof
their cubes ?

Ay 135

(B} 240

(C) 73

() 108

BO0% workers in a factory are older than
=0 yvears oul of which 75% are male and
the rast females. If the number of mala
workers oldsr than. 30 years |s 1350,

15 the total number of workers Il the
factory?

(&) 3000

(B). 2000

(S 1800

(D) 1500

3
A person, walking at % th of his normal

spead, reaches after a delay of 1 5 hiurs,

What Is the narmal fime (in hours | taken
by the person to cover tha distance?

(W) 4s
(B) 4
(€) 53
@) 5

IT1 is sublracted fram the numerator and

1
the denominalor, the fraction becomes E'
and if 1 is added to its numerator and

i
dencminator, the fraction becomas E :

Tha sum of the numerator and
denominator is

(A) 10

8- 8

ey 7

(O} 18
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Three successive discounts of 20%, 15%;
and 10% are equal lo a single discount of
(A) 32.7%
(B) 34:2%
(G} 36.9%
(D) 38,89

The average of 20 quantities is 47, Laler
it was discovered that 82 was wrao ngly
written as 268, What is the rew averaga?
(A) 488

B) 47.7

(G} 489

(D) 465

The average marks obtained by a class of
24 studants is 25, If 20 is ha ayerage
marks for boys and 30 is the average
rmarks for girls then what is the ratia of
boys and girls in the class?

(A 1:1

(B] 21

(C) 2:3

(D) 34

Three utensils of equal volume have a
mixture of milk and water in the ratio 2:5,
4i7 and 5.7, If the three mixtures are
mixed together, what is the ratio of milk to
waler?

(A) 985 1787

(B 1113

(C) 1211

(B) 185: 250

What is the measure of each angle of g
regular decagon?

(A) 2 % radians
(B} 2 radians

v 1IF
{C} E':F radians

12
(¥} EE radians
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a
A drum of kerosene g 2 th full, Alter

laking out 30 fitres kerosene, Itis naw.

full. What is the capacity of the drum 7
(Ay 120 litres
(B] 135 litres
(C) 150 fitres
(0 180 litres

If the longest side of an equilateral
trigngle is 7 crm, what is the magnituds of
its |largest angle®

(AY 805

(B) @0e

(G} 45°

(B G0

VYWhich number should be added lo sach
part of the ratie 7:11 to make |t 34 7
(Al 8

(B) 7.5

(C) B5

(O} 5

A shopkeeper obigins a profit of Rs 56
after giving a discount of 23% on the
marked price of a toy. What j= tha marked
price (in rupees) if his profit is 10%7

(A) 810

(B) 8BGO

(C) 560

{0y 740

Aone litre mixture of water and aleohol
nas 30% water. How much aleah ol should
be added to make the percentage of
wator 1597

(A) 1000 mi

(B) 700 m|

(C) 300 mi

(O} 200 mi
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[ SECTION-A

(iv) TEST OF LANGUAGE - ENGLISH

Direx 5 [121-125) : In the following

- questions, out of the four allermatives, choose
thi-one which best expresses the meaning of
the given waord.
121,

DETRIMENTAL

LA
(B}
(€}
(B)

Deplorable
Fundamental
Harmful
Disgraceful

DECAMP

(A
(B)
(C)
(D

Meove
Encamp
Flee
Hide

VIRULENT

ey
{B)
(€
(D)

Defunct
Deadly
Daring
Deceptive

EMERACE

(A
B
(€]
(D)

Impress
Except
Embarrass
Accepl

SUFFICIENT

(A)
(B)
(€)
(0)

Full
Complete
Enough
Lass

| Directions (126-130) = In the foliowing

127

126

128,

129.

130.

PAGE - 28

questions a part of the sentence is printed in_
bold. Below are givan altemnatives to the bold
part at {A), (B) and {C) which may improve tha
sentence, Choose fhe correct allemative. |n
case no improvement is nesded, choose (D)

The Japanese are hardly working
peaple,

(A) a hard working people

(B} a hardly working people

(C)  hard working psople

(O} no improvement.

My car broke off on my way to the affice.
{A) Out

(B) In

(C) Deown

(D) noimprovement.

Freedom is a wonderful fesling, for Ram
was eager 10 experience L

{A) Though

(B] And

(C} But

(0] noimprovemenlt,

This is so important a matter,
(A) such an important

(B} very important

{C) quite important

(D} no improvement.

When Rahul handed his homework. he
forgot to give the last page,

(A) handed in his hamework

(B} handed down his homework

(&)  hand over his homework

(D} noimprovement.
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Directions (131-135) : In tha following 136, It is high time that he came out of his
questions, out of the four alternatives, choose shell.
ﬁ the word opposite in meaning to the given word, (A} appeared suddenly
13, DESPAIR (B) became mare sociable
(A)  Belief (C) became aloser
{B) Trust :
_f':.'l i ({3) removed his clothes,
: (D) Faith

137. His blood ran cold when he heard hiz

uncle was murdercd
132. ADMONISH

(&) Condemn {A) He was fnghlened
(B Bless {8) He was homified
i e (G} He was disgusted

(L)  Congratulate
! o {0}y He was depressed

133. REBELLION 138. The poet drew on his fancy, and not his
{A) Forgiveness

(8) Retribution

knowledgs, when writing poetry.

(C)] Subrnission (A)  used his understanding
(0) Domination (B} used his knowledge
(&) used his imagination
{A) Extended
{B) Lengthy -
1349, Ambltious peaple do not rest on their

{C} Protracted
{0} Elgngated laurels,

(&) to beunhappy

(B) tobe motivated
135. AFFLUENCE
fA)  Misery (C) 1o be impatient
(B) Stagnation (D) to be complacent
(21 Neglest

(B} Poverty 140. The Manager doctored the accounts of

Directions (136-140) : In the following the company.

quesbons four alternatives are given for the A}, mBde change inaccounts

' idiom ! phrase printed in bold in the sentence. (B} paid the doctor's bills
Choose the alternative which best exprosses (C)  verified the accounts in detail
the meaning of the Wlom f phrase. () manipulated the accounts

f IDE-7/ WO K-14_A PAGLE - 19 fContd..,
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Directions (141-145) : In the following
questions, some of lhe sentences have erors
and some have none. Find out which part of (he
sentence has an arror, The number of that part
Is vour answer, If thera is no arror, (he answer is
(2}
141, Find the oorrecl answer

(A)  The manager put forward!

(B} anumber of criterlons!

(C) for the post,

{0} noerror,

142, Find the correct answar
(A}  Citizans cannot afford!
[B) lolake the lawy
(C) outof thair hands.
{0} noerror,

143. Find the correct answar
(A} Tha relatives of lhe deceased!
(B) Ihreatenad to avenge |
{C)  his death,

{D}  no error,

144, Find the correct answer
(A} A great many student /
(B} have been declared /
(C) successiul.
{0} noerror,

145. Find the correct answer
(A} After a carefully investigation /
(B} we discovered that /
{€) the house was Infesied with
lermites.
{D} noarror.

Directions (146-150) : In the following
quesiions, out of the four alternatives,
choose the one which can be substituted for
the given words / sentence.

146, Able to use the left and the right hands *
equally well
(A}  Ambivalent
{BY Ambidextrous
(C)  Ambivert

(D} Ambitious

147. A oure for all diseases.
(A} Laxative
(Bl Panacea
{C) Antidate
(D} Purgative

148, A ctate of being miserable and berefl of
all possessions.
{A)  Dependent
(B) Complaceni
(C)} Destitute
(B} Omnipresent

149, That which cannol be called back.
[A) Irresponsible
(B] Irrevecable
(G} Irredeemable
(D} Incalculable

180. The practice of submitting a proposal o
popular vote,
{A)] Election
(B} Reference
(€} Popularity
(D} referendum.
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Passage : (Q: 151-155) : Read the passage

and answer the questions accordingly.

b

Adrexed problem facing usts the clamour to
open mora colléges and Lo reserve more seats
for the backward classes, But it will be a sheer
folly 1 expand such facilities recklessly without
giving any thought (o the quality of education
imparted. If admissions are made far more
salective, it will automatically reduce the
number of entrants. This should apply
partictlarly 1o new colleges, many of which are
little more than dagree factories. Only then can
\he authorities hope to bring down the eacher -
student ratio 1o managesble propotions,
Teachers should also be given refresher
gourses every- summaear to brush up thelr
knowledge. Besides, if the collage
managemants increase their library budget, it
will help the teachers and the students both,

Al the same lime, howaver, It will be
unfair fo deny coliege education to thousands of
young men and wemen, unless employers stop
insisting on degrees even for clerical jobs, Fora
start, why can't the Government disqualify
graduates from securing certaln jobs - say class
Il and IV posts? Onge the link between jobs
and degree is severed, at least in some
importznt departments, it will make the young
paople think twice before joining college.

181,

152.

153

154

155.

What can automatically help 10 reduce
admissions 7

(A} Tough entrance lesls

{6} Discourage opening of new colleges
(C) Selactive admisslons

{D) Abolishing reservations

Many of the new colleges are

(A) centres of advanced feaming

(B} resedrch instiutions

(C) faclorigs producing degree holders
(0] known for their academic exceliénce

How can teachers ba helped o brash up
their knowledge?

{A) by arranging relresher courses

(B) by providing monetary help

(C) by providing better library facilities
(D) by sending them abroad

The author is in favour of restricling
college admissions
(A} only when degrees are delinked

from jobs

{(B) when alternative avenues are open
for students

(C)Y 'when the teacher studenl ratio |s
reduced

{0} only when the parents think twice
before sending their children to
college.

The phrase "vexed problem” means
(A) @& serious problem

(B) a debatable problem

(C) & solvable problem

(B) an imitating problem

JD0=T WO 1A
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156, What is the word for these | 160, Smoking is bad far health. The word
Synonyms "seize, impound, "smoking" in the senlence s &
sequestrate, sequester, condemn, (A& Noun =
escheat, appropriate, expropriate, (B)  Adverh e
commandeer” 7 (L) Gerund
(&) Remote (D} Adjective
(B} Enumerate
{C) Analylical

(D) Confiscale

157. The threat of rain Hidn't ceeeeeeee. har
strell through the grounds. Even the
first drops were no =, and she
continued her walk.

{A)  hinder, incantive

(B} thwart refuse

(S} impeds, detarrent
(D) promote, provecation

158, Since may casual smokers develop
lung cancer while many -————ee ...
smokers do not, scientists believe that
different persons differ in their ———-...
- to carcinogenie substances in
smoke,

(A} chronic, concern
(B} heawy, suUsceplibilily
(C}  habitual | proximity
(D) regular, exposure

158, What is opposite n meEaning to the word -
BIBLIOPHILE
(A) A student of religion
8] Alukewarm reader
(C) A good book
(D) A church library

I
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| INSTRUCTIONS TO CANDIDATES

. Thiz Booklel contains 40 papes,

Please chock all the pages of the Baaoklet
warctitlly, In case of any defoct, please ask
the Invigilator for replacement of the
Booklet

Each question or incomplete statement is
followed by four aliernstive suznesled
answers or gompletions. In each case, you
are requirad o select the one that comeetly
answers the question or completes, the
statetnent and blacken [ ] appropriate oval
A B, Cor D by Black/Blue Ball-point e
dEamsl  the guestion, concerned {n (e
Answer-Bheet  (for VoM.  candidates
correspinding oval will by blackened by
the scribe)

Fhere is only one corrget answer (6 eich
question, You should blacken [ ] the oval
of the approprists colamn, viz, A, B, CorD,
I you blicken [ | mioré than one oval
LISt any one guestion, the angwer will be
treated as wreng. IF vou wish to canee] any
answer, wour should completély eense that
blagk mark in the oval in the Answer-Sheet,
ond- then blacken the oval of revised
Tespunse.

A machime will read the coded mformation

w the OMR Answor-Sheot. In vase the
mformation 1s incompleteddiferent from the
imformation given ia the applicaticon farm,
the: candidature of suech candidate will be
treated as cancelled:

Youware NOT required to mark vour
answirs 10 1his Booklet. All answers must
te indicated in the Answer-Sheet oy,
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